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Which of the following numbers is divisible by 77

(i) 6,440 (ii) 6,438 (iii) 6,441 (iv) 6,439 (v) 6,442

Find the total number of factors of 25

(i) 2 (ii) 4 (i) 0 (iv) 3 (v) 1

Find the number of prime factors of576

(i) 4 (i) 2 (i) 3 (iv) 0 (v) 1

8,765 =
(i) 8000+700+5 (ii) 8000+700+60 (iii) 8000+700+60+5 (iv) 700+60+5 (v) 8000+60+5

700000 + 80000 + 6000 + 400 + 60 + 4=
(i) 7,86,564 (ii) 7,86,364 (iii)) 7,86,454 (iv) 7,87,464 (v) 7,86,464

64,194 =

(i) 4000+100+90+4 (ii) 60000+4000+90+4 (iii) 60000+4000+100+90+4 (iv) 60000+100+90+4
(v) 60000+4000+100+4

7000000 + 800000 + 30000 + 6000 + 600 + 80 + 5=

(i) 7,835,685 (ii) 7,846,685 (iii) 7,836,685 (iv) 7,836,585 (v) 7,837,685

70000 + 8000 + 800 + 30 + 1=
(i) 78,831 (ii) 78,841 (iii) 78,731 (iv) 78,821 (v) 88,831

688 =
(i) 600+80 (ii) 600+80+8 (iii) 600+8 (iv) 80+8

Find the difference in place value of 2 in 13,25,267
(i) 19,799 (ii) 19,800 (iii) 19,803 (iv) 19,801 (v) 19,797

The factors of 3 =
(i) {2} (i) {1,3,2} (i) {3,2} (iv) {1,3}

Write the number for the given expanded form :
"(1 x 100000) + (3 x 1000) + (5 X 100) + (5 x 10) + (8 x 1)"

(i) 113558 (ii) 104558 (iii)) 103558 (iv) 102558 (v) 103458

Which of the following numbers is divisible by 6?

(i) 7,430 (ii) 7,427 (iii) 7,428 (iv) 7,429 (v) 7,426
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Which of the following numbers is divisible by 9?

5021 (iv) 5022 (v)

(i)

5023

(if)

5020 (iii)

Find the number of prime factors of84

(i)

4 (ii)

463 =
(i) 400+3 (ii) 60+3

2

(iii)) 1

(iii)

(iv) 0 (v) 3

400+60+3 (iv)

5024

400+60

Which of the following numbers is divisible by 5?

(ii) 9846 (iii) 9843 (iv) 9845 (v)

(i)

1000 + 800 + 80 + 8=

(i)

9844

1,878

(if)

1,898

(iii)) -8,112 (iv)

1,888

9847

(v)

Which of the following numbers is divisible by 9?

(i)

5,822

(i)

5,821

(iii)

5,823

(iv)

5,825

(v) 5,824

Write the number for the given expanded form :

“(1 X 100000) + (6 x 10000) + (9 X 1000) + (8 x 100) + (1 X 10) + (3 x 1)"

(i) 169,813

(i) 169,803

1,988

(iii) 170,813 (iv) 169,913

Which of the following numbers is divisible by 107

(i)

8,688

(i)

8,692

(iii)

8,691

(iv)

8,690

(v)

Which of the following numbers is divisible by 77
(ii) 6536 (iii) 6539 (iv) 6540 (v)

(i)

6537

8,689

6538

Which of the following numbers is divisible by 37

5521 (iv) 5522 (v)

(i)

5525

(ii)

5523 (iii)

5524

Which of the following numbers is divisible by 37

(i)

5,392

(if)

5,394

(iii)

5,395

(iv)

5,396

(v)

Which of the following numbers is divisible by 57

(i)

9,069

(ii)

9,070

(iii)

9,068

(iv)

9,072

(v)

5,393

9,071

(V)

168,813



Assignment Key

1) (i) 2) (iv) 3) (ii) 4) (iii) 5) (v) 6) (iii)
7) (iii) 8) (i) 9) (ii) 10) (ii) 11) (iv) 12) (iii)
13) (iii) 14) (iv) 15) (v) 16) (iii) 17) (iv) 18) (iv)
19) (iii) 20) (i) 21) (iv) 22) (v) 23) (ii) 24) (ii)
25) (ii)
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